

ON THE GOTTLIEB POLYNOMIALS IN SEVERAL VARIABLES

Esra Erkuş-Duman and Nejla Özmen

© 2019 by University of Niš, Serbia | Creative Commons Licence: CC BY-NC-ND

Abstract. In this study, we give some new properties of the Gottlieb polynomials in several variables. The results obtained here include various families of multilinear and multilateral generating functions, integral representation and recurrence relations for these polynomials. In addition, we derive a theorem giving certain families of bilateral generating functions for the multivariable Gottlieb polynomials and the generalized Lauricella functions. Finally, we get several results of this theorem.

Keywords. Gottlieb polynomials; generalized Lauricella functions; generating functions; integral representation; recurrence relation.

1. Introduction

The Gottlieb polynomials are defined as [6]

$$(1.1) \quad \begin{aligned} \varphi_n(x; \lambda) &= e^{-n\lambda} \sum_{k=0}^n \binom{n}{k} \binom{x}{k} (1 - e^\lambda)^k \\ &= e^{-n\lambda} {}_2F_1[-n, -x; 1; 1 - e^\lambda], \end{aligned}$$

where ${}_2F_1$ denotes the hypergeometric function.

Recently, Choi [4] defined an extension of the Gottlieb polynomials $\varphi_n(x; \lambda)$ in m variables by

$$(1.2) \quad \begin{aligned} \varphi_n^m(x_1, \dots, x_m; \lambda_1, \dots, \lambda_m) &= \exp(-n\sigma_m) \sum_{r_1=0}^n \sum_{r_2=0}^{n-r_1} \sum_{r_3=0}^{n-r_1-r_2} \dots \sum_{r_m=0}^{n-r_1-r_2-\dots-r_{m-1}} \\ &\quad \frac{(-n)_{\delta_m} \prod_{j=1}^m (-x_j)_{r_j} \prod_{j=1}^m (1 - e^{\lambda_j})^{r_j}}{\prod_{j=1}^m (r_j)_{\delta_m}!} \end{aligned}$$

Received March 26, 2018; accepted June 20, 2018
 2010 *Mathematics Subject Classification.* 33C65

where $n, m \in \mathbb{N}$ and, for convenience,

$$(1.3) \quad \sigma_m := \sum_{j=1}^m \lambda_j \quad \text{and} \quad \delta_m = \sum_{j=1}^m r_j.$$

Here and in the following, let \mathbb{N} be the set of positive integers and let $\mathbb{N}_0 := \mathbb{N} \cup \{0\}$.

It is noted that the special case $m = 1$ of (1.2) reduces immediately to the Gottlieb polynomials in (1.1). The multivariable Gottlieb polynomials defined by (1.2) have the following two generating functions [4]:

$$(1.4) \quad \sum_{n=0}^{\infty} \varphi_n^m(x_1, \dots, x_m; \lambda_1, \dots, \lambda_m) t^n = (1 - te^{-\sigma_m})^{-\left(\sum_{j=1}^m x_j\right)-1} \prod_{j=1}^m (1 - te^{\lambda_j - \sigma_m})^{x_j},$$

where $m \in \mathbb{N}$ and σ_m is given in (1.3).

$$\sum_{n=0}^{\infty} (\mu)_n \varphi_n^m(x_1, \dots, x_m; \lambda_1, \dots, \lambda_m) \frac{t^n}{n!} = (1 - te^{-\sigma_m})^{-\mu} F_D^{(m)}[\mu, -x_1, \dots, -x_m; 1; \frac{t(e^{\lambda_1} - 1)e^{-\sigma_m}}{1 - te^{-\sigma_m}}, \dots, \frac{t(e^{\lambda_m} - 1)e^{-\sigma_m}}{1 - te^{-\sigma_m}}],$$

where $F_D^{(m)}[.]$ denotes one of the Lauricella series in m variables ([10], p. 33, Eq. (4)) defined by

$$F_D^{(m)}[a, b_1, \dots, b_m; c; x_1, \dots, x_m] = \sum_{r_1, r_2, \dots, r_m=0}^{\infty} \frac{(a)_{\delta_m} (b_1)_{r_1} \dots (b_m)_{r_m} x_1^{r_1} \dots x_m^{r_m}}{(c)_{\delta_m} r_1! \dots r_m!}$$

$$(\max\{|x_1|, \dots, |x_m|\} < 1)$$

and σ_m, δ_m are given in (1.3).

The main object of this paper is to study different properties of multivariable Gottlieb polynomials. Various families of multilinear and multilateral generating functions are derived for these polynomials. Other miscellaneous properties of these multivariable polynomials are also discussed. Some special cases of the results presented here are also indicated.

2. Generating Functions

In this section, firstly, we prove a theorem which gives a generating function relation for the multivariable Gottlieb polynomials $\varphi_n^m(x_1, \dots, x_m; \lambda_1, \dots, \lambda_m)$. Secondly, we give a result about several families of bilinear and bilateral generating functions for these polynomials using the similar method considered in (see [1], [2], [3], [5], [8], [12]).

Theorem 2.1. *The following generating function holds true:*

$$\begin{aligned}
 & \sum_{n=0}^{\infty} \binom{n+k}{n} \varphi_{n+k}^m(x_1, \dots, x_m; \lambda_1, \dots, \lambda_m) t^n \\
 &= (1 - te^{-\sigma_m})^{-\left(\sum_{j=1}^m x_j\right) - k - 1} \prod_{j=1}^m (1 - te^{\lambda_j - \sigma_m})^{x_j} \\
 (2.1) \quad & \times \varphi_k^m \left(x_1, \dots, x_m; \ln \left(\frac{e^{\lambda_1} - te^{\lambda_1 - \sigma_m}}{1 - te^{\lambda_1 - \sigma_m}} \right), \dots, \ln \left(\frac{e^{\lambda_m} - te^{\lambda_m - \sigma_m}}{1 - te^{\lambda_m - \sigma_m}} \right) \right).
 \end{aligned}$$

Proof. If we write $t + u$ instead of t in (1.4), we get

$$\begin{aligned}
 & \sum_{n=0}^{\infty} \varphi_n^m(x_1, \dots, x_m; \lambda_1, \dots, \lambda_m) (t + u)^n \\
 &= (1 - te^{-\sigma_m} - ue^{-\sigma_m})^{-\left(\sum_{j=1}^m x_j\right) - 1} \prod_{j=1}^m (1 - te^{\lambda_j - \sigma_m} - ue^{\lambda_j - \sigma_m})^{x_j}.
 \end{aligned}$$

Here, using the binomial theorem on the left-hand side of the last equality, we have

$$\begin{aligned}
 & \sum_{n=0}^{\infty} \varphi_n^m(x_1, \dots, x_m; \lambda_1, \dots, \lambda_m) \sum_{k=0}^n \binom{n}{k} t^{n-k} u^k \\
 &= (1 - te^{-\sigma_m})^{-\left(\sum_{j=1}^m x_j\right) - 1} \left(1 - \frac{ue^{-\sigma_m}}{1 - te^{-\sigma_m}}\right)^{-\left(\sum_{j=1}^m x_j\right) - 1} \prod_{j=1}^m (1 - te^{\lambda_j - \sigma_m})^{x_j} \\
 & \times \prod_{j=1}^m \left(1 - \frac{ue^{\lambda_j - \sigma_m}}{1 - te^{\lambda_j - \sigma_m}}\right)^{x_j}.
 \end{aligned}$$

Replacing n by $n + k$ and using relation (1.4), then we obtain

$$\begin{aligned}
 & \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \binom{n+k}{k} \varphi_{n+k}^m(x_1, \dots, x_m; \lambda_1, \dots, \lambda_m) t^n u^k \\
 &= (1 - te^{-\sigma_m})^{-\left(\sum_{j=1}^m x_j\right) - 1} \prod_{j=1}^m (1 - te^{\lambda_j - \sigma_m})^{x_j} \sum_{k=0}^{\infty} (1 - te^{-\sigma_m})^{-k} \\
 & \times \varphi_k^m \left(x_1, \dots, x_m; \ln \left(\frac{e^{\lambda_1} - te^{\lambda_1 - \sigma_m}}{1 - te^{\lambda_1 - \sigma_m}} \right), \dots, \ln \left(\frac{e^{\lambda_m} - te^{\lambda_m - \sigma_m}}{1 - te^{\lambda_m - \sigma_m}} \right) \right) u^k
 \end{aligned}$$

Equating the coefficients of u^k on the both sides of the last equality, we arrive at the desired result. \square

Theorem 2.2. *Corresponding to an identically non-vanishing function*

$$\Omega_\mu(y_1, \dots, y_r)$$

of r complex variables y_1, \dots, y_r ($r \in \mathbb{N}$) and of complex order μ , let

$$\begin{aligned} & \Lambda_{\nu, q}[x_1, \dots, x_m; \lambda_1, \dots, \lambda_m; y_1, \dots, y_r; t] \\ & : = \sum_{n=0}^{\infty} a_n \varphi_{\nu+qn}^m(x_1, \dots, x_m; \lambda_1, \dots, \lambda_m) \Omega_{\mu+pn}(y_1, \dots, y_r) t^n \end{aligned}$$

where $a_n \neq 0$, $\mu \in \mathbb{C}$ and

$$(2.2) \quad \theta_{n,p,q}(y_1, \dots, y_r; z) := \sum_{k=0}^{[n/q]} \binom{n+\nu}{n-qn} a_k \Omega_{\mu+pk}(y_1, \dots, y_r) z^k.$$

Then, for $p \in \mathbb{N}$, we have

$$\begin{aligned} & \sum_{n=0}^{\infty} \varphi_{n+\nu}^m(x_1, \dots, x_m; \lambda_1, \dots, \lambda_m) \theta_{n,p,q}(y_1, \dots, y_r; z) t^n \\ & = (1 - te^{-\sigma_m})^{-\left(\sum_{j=1}^m x_j\right) - \nu - 1} \prod_{j=1}^m (1 - te^{\lambda_j - \sigma_m})^{x_j} \\ & \quad \times \Lambda_{\nu, q}\left(x_1, \dots, x_m; \ln\left(\frac{e^{\lambda_1} - te^{\lambda_1 - \sigma_m}}{1 - te^{\lambda_1 - \sigma_m}}\right), \dots, \ln\left(\frac{e^{\lambda_m} - te^{\lambda_m - \sigma_m}}{1 - te^{\lambda_m - \sigma_m}}\right); \right. \\ (2.3) \quad & \left. y_1, \dots, y_r; z\left(\frac{t}{1 - te^{-\sigma_m}}\right)^q\right). \end{aligned}$$

Proof. For convenience, let T denote the left side of (2.3). Using (2.2), we have

$$T = \sum_{n=0}^{\infty} \varphi_n^m(x_1, \dots, x_m; \lambda_1, \dots, \lambda_m) \sum_{k=0}^{[n/q]} \binom{n+\nu}{n-qn} a_k \Omega_{\mu+pk}(y_1, \dots, y_r) z^k t^n.$$

Replacing n by $n + qk$ and using relation (2.1), we may write

$$\begin{aligned}
 T &= \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \binom{n + \nu + qk}{n} \varphi_{n+\nu+qk}^m(x_1, \dots, x_m; \lambda_1, \dots, \lambda_m) a_k \Omega_{\mu+pk}(y_1, \dots, y_r) z^k t^{n+qk} \\
 &= (1 - te^{-\sigma_m})^{-\left(\sum_{j=1}^m x_j\right) - \nu - 1} \prod_{j=1}^m (1 - te^{\lambda_j - \sigma_m})^{x_j} \sum_{k=0}^{\infty} (1 - te^{-\sigma_m})^{-qk} a_k \Omega_{\mu+pk}(y_1, \dots, y_r) \\
 &\quad \times \varphi_{\nu+qk}^m \left(x_1, \dots, x_m; \ln \left(\frac{e^{\lambda_1} - te^{\lambda_1 - \sigma_m}}{1 - te^{\lambda_1 - \sigma_m}} \right), \dots, \ln \left(\frac{e^{\lambda_m} - te^{\lambda_m - \sigma_m}}{1 - te^{\lambda_m - \sigma_m}} \right) \right) (zt^q)^k \\
 &= (1 - te^{-\sigma_m})^{-\left(\sum_{j=1}^m x_j\right) - \nu - 1} \prod_{j=1}^m (1 - te^{\lambda_j - \sigma_m})^{x_j} \\
 &\quad \times \Lambda_{\nu,q} \left(x_1, \dots, x_m; \ln \left(\frac{e^{\lambda_1} - te^{\lambda_1 - \sigma_m}}{1 - te^{\lambda_1 - \sigma_m}} \right), \dots, \ln \left(\frac{e^{\lambda_m} - te^{\lambda_m - \sigma_m}}{1 - te^{\lambda_m - \sigma_m}} \right) \right); \\
 &\quad y_1, \dots, y_r; z \left(\frac{t}{1 - te^{-\sigma_m}} \right)^q.
 \end{aligned}$$

This completes the proof. \square

It is possible to give many applications of our theorems by making appropriate choices of the multivariable functions $\Omega_{\mu+pk}(y_1, \dots, y_r)$, $k \in \mathbb{N}_0$, $r \in \mathbb{N}$. Furthermore, for every suitable choice of the coefficients a_k ($k \in \mathbb{N}_0$), if the multivariable functions $\Omega_{\mu+pk}(y_1, \dots, y_r)$, $r \in \mathbb{N}$, are expressed as an appropriate product of several simpler functions, the assertion of Theorem 2.2 can be applied in order to derive various families of multilinear and multilateral generating functions for the family of the multivariable Gottlieb polynomials.

3. Miscellaneous Properties

In this section, we give some properties for the multivariable Gottlieb polynomials $\varphi_n^m(x_1, \dots, x_m; \lambda_1, \dots, \lambda_m)$ given by (1.2).

Theorem 3.1. *The multivariable Gottlieb polynomials have the following integral representation:*

$$\begin{aligned}
 \varphi_n^m(x_1, \dots, x_m; \lambda_1, \dots, \lambda_m) &= \frac{1}{\Gamma(x_1) \dots \Gamma(x_m)} \sum_{r_{m+1}=0}^n \prod_{j=1}^m (e^{\lambda_j - \sigma_m})^{r_j} \\
 &\quad \times \int_0^{\infty} \dots \int_0^{\infty} (-x_1 \dots - x_m)_{n-r_{m+1}} e^{-(u_1 + \dots + u_{m+1})} u_1^{x_1-1} \dots u_m^{x_m-1} \\
 &\quad \times \frac{[\exp(-\sigma_m)(u_1 + \dots + u_{m+1})]^{r_{m+1}}}{(n - r_{m+1})! r_{m+1}!} du_1 \dots du_{m+1},
 \end{aligned}$$

where $Re(x_j) > 0$ ($j = 1, \dots, m$).

Proof. If we denote the left-hand side of (1.4) by S and use the identity

$$a^{-v} = \frac{1}{\Gamma(v)} \int_0^{\infty} e^{-at} t^{v-1} dt \quad (Re(v) > 0),$$

we obtain

$$\begin{aligned} S &= (1 - te^{-\sigma_m})^{-x_1 - \dots - x_m - 1} (1 - te^{\lambda_1 - \sigma_m})^{x_1} \dots (1 - te^{\lambda_m - \sigma_m})^{x_m} \\ &= \frac{1}{\Gamma(x_1)} \int_0^{\infty} e^{-(1-te^{-\sigma_m})u_1} u_1^{x_1-1} du_1 \dots \frac{1}{\Gamma(x_m)} \int_0^{\infty} e^{-(1-te^{-\sigma_m})u_m} u_m^{x_m-1} du_m \frac{1}{\Gamma(1)} \\ &\times \int_0^{\infty} e^{-(1-te^{-\sigma_m})u_{m+1}} du_{m+1} \sum_{r_1=0}^{\infty} \frac{(-x_1)_{r_1}}{r_1!} (te^{\lambda_1 - \sigma_m})^{r_1} \dots \sum_{r_m=0}^{\infty} \frac{(-x_m)_{r_m}}{r_m!} (te^{\lambda_m - \sigma_m})^{r_m} \\ &= \frac{1}{\Gamma(x_1) \dots \Gamma(x_m)} \int_0^{\infty} \dots \int_0^{\infty} \sum_{r_1, \dots, r_m=0}^{\infty} \frac{(-x_1)_{r_1} \dots (-x_m)_{r_m}}{r_1! \dots r_m!} t^{r_1 + \dots + r_m} \prod_{j=1}^m (e^{\lambda_j - \sigma_m})^{r_j} \\ &\times e^{-(u_1 + \dots + u_m + u_{m+1})} e^{te^{-\sigma_m}(u_1 + \dots + u_m + u_{m+1})} u_1^{x_1-1} \dots u_m^{x_m-1} du_1 \dots du_m du_{m+1} \\ &= \frac{1}{\Gamma(x_1) \dots \Gamma(x_m)} \int_0^{\infty} \dots \int_0^{\infty} \sum_{r_1, \dots, r_m=0}^{\infty} \frac{(-x_1)_{r_1} \dots (-x_m)_{r_m}}{r_1! \dots r_m!} t^{r_1 + \dots + r_m} \prod_{j=1}^m (e^{\lambda_j - \sigma_m})^{r_j} \\ &\times e^{-(u_1 + \dots + u_{m+1})} \sum_{r_{m+1}=0}^{\infty} \frac{[t \exp(-\sigma_m)(u_1 + \dots + u_{m+1})]^{r_{m+1}}}{r_{m+1}!} u_1^{x_1-1} \dots u_m^{x_m-1} du_1 \dots du_{m+1}. \end{aligned}$$

If we use the identity [11]

$$\sum_{r_1, \dots, r_m=0}^{\infty} f(r_1 + \dots + r_m) (\nu_1)_{r_1} \dots (\nu_m)_{r_m} \frac{x^{r_1 + \dots + r_m}}{r_1! \dots r_m!} = \sum_{n=0}^{\infty} f(n) (\nu_1 + \dots + \nu_m)_n \frac{x^n}{n!}$$

and replace n by $n - k$, we have

$$\begin{aligned} S &= \frac{1}{\Gamma(x_1) \dots \Gamma(x_m)} \sum_{n=0}^{\infty} \left[\sum_{r_{m+1}=0}^n \prod_{j=1}^m (e^{\lambda_j - \sigma_m})^{r_j} \right. \\ &\times \int_0^{\infty} \dots \int_0^{\infty} \frac{(-x_1 \dots - x_m)_{n-r_{m+1}} [\exp(-\sigma_m)(u_1 + \dots + u_{m+1})]^{r_{m+1}}}{(n - r_{m+1})! r_{m+1}!} \\ &\left. \times e^{-(u_1 + \dots + u_{m+1})} u_1^{x_1-1} \dots u_m^{x_m-1} du_1 \dots du_{m+1} \right] t^n. \end{aligned}$$

From the coefficients of t^n on the both sides of the last equality, one can get the desired result. \square

We now discuss some miscellaneous recurrence relations of the multivariable Gottlieb polynomials. By differentiating each member of the generating function relation (1.4) with respect to x_j ($j = 1, 2, \dots, m$) and after some calculations, we arrive at the following (differential) recurrence relation for the multivariable Gottlieb polynomials:

$$\frac{\partial}{\partial x_j} \varphi_n^m = \sum_{r=0}^{n-1} \frac{1}{r+1} \left[(e^{-\sigma_m})^{r+1} - (e^{\lambda_j - \sigma_m})^{r+1} \right] \varphi_{n-r-1}^m.$$

Besides, by differentiating each member of the generating function relation (1.4) with respect to t , we have the following another recurrence relation:

$$(n+1)\varphi_{n+1}^m = \left(1 + \sum_{j=1}^m x_j\right) \sum_{p=0}^n (e^{-\sigma_m})^{p+1} \varphi_{n-p}^m - \sum_{r=0}^n \sum_{j=1}^m x_j (e^{\lambda_j - \sigma_m})^{r+1} \varphi_{n-r}^m.$$

4. Bilateral Generating Functions for the Multivariable Gottlieb Polynomials and the Generalized Lauricella Functions

In this section, we derive various families of bilateral generating functions for the multivariable Gottlieb polynomials and the Srivastava-Daoust (or generalized Lauricella) functions.

The Srivastava-Daoust (or generalized Lauricella) function is defined by [9]

$$\begin{aligned} &F_{C:D^{(1)}; \dots; D^{(n)}}^{A:B^{(1)}; \dots; B^{(n)}} \left(\begin{array}{l} [(a) : \theta^{(1)}, \dots, \theta^{(n)}] : [(b^{(1)}) : \phi^{(1)}] ; \dots ; \\ [(c) : \psi^{(1)}, \dots, \psi^{(n)}] : [(d^{(1)}) : \delta^{(1)}] ; \dots ; \\ [(b^{(n)}) : \phi^{(n)}] ; \\ [(d^{(n)}) : \delta^{(n)}] ; \end{array} \begin{array}{l} z_1, \dots, z_n \end{array} \right) \\ &= \sum_{m_1, \dots, m_n=0}^{\infty} \Omega(m_1, \dots, m_n) \frac{z_1^{m_1}}{m_1!} \dots \frac{z_n^{m_n}}{m_n!}, \end{aligned}$$

where for convenience

$$\Omega(m_1, \dots, m_n) := \frac{\prod_{j=1}^A (a_j)_{m_1 \theta_j^{(1)} + \dots + m_n \theta_j^{(n)}} \prod_{j=1}^{B^{(1)}} (b_j^{(1)})_{m_1 \phi_j^{(1)}} \dots \prod_{j=1}^{B^{(n)}} (b_j^{(n)})_{m_n \phi_j^{(n)}}}{\prod_{j=1}^C (c_j)_{m_1 \psi_j^{(1)} + \dots + m_n \psi_j^{(n)}} \prod_{j=1}^{D^{(1)}} (d_j^{(1)})_{m_1 \delta_j^{(1)}} \dots \prod_{j=1}^{D^{(n)}} (d_j^{(n)})_{m_n \delta_j^{(n)}}},$$

the coefficients

$$\theta_j^{(k)} \quad (j = 1, \dots, A; k = 1, \dots, n), \quad \text{and} \quad \phi_j^{(k)} \quad (j = 1, \dots, B^{(k)}; k = 1, \dots, n),$$

$$\psi_j^{(k)} \quad (j = 1, \dots, C; k = 1, \dots, n), \quad \text{and} \quad \delta_j^{(k)} \quad (j = 1, \dots, D^{(k)}; k = 1, \dots, n)$$

are real constants and $(b_{B^{(k)}}^{(k)})$ abbreviates the array of $B^{(k)}$ parameters $b_j^{(k)}$ ($j = 1, \dots, B^{(k)}; k = 1, \dots, n$) with similar interpretations for other sets of parameters [7].

For a suitably bounded nonvanishing multiple sequence $\{\Omega(m_1, \dots, m_r)\}_{m_1, \dots, m_r \in \mathbb{N}_0}$ of real or complex parameters, we define a function $\phi_n(u_1; u_2, \dots, u_r)$ of r (real or complex) variables u_1, u_2, \dots, u_r by [7]

$$\begin{aligned} \phi_n(u_1; u_2, \dots, u_r) &: = \sum_{m_1=0}^n \sum_{m_2, \dots, m_r=0}^{\infty} \frac{(-n)_{m_1} ((b))_{m_1 \phi}}{((d))_{m_1 \delta}} \\ &\quad \times \Omega(f(m_1, \dots, m_r), m_2, \dots, m_r) \frac{u_1^{m_1}}{m_1!} \cdots \frac{u_r^{m_r}}{m_r!} \end{aligned}$$

where, for convenience

$$((b))_{m_1 \phi} = \prod_{j=1}^B (b_j)_{m_1 \phi_j} \quad \text{and} \quad ((d))_{m_1 \delta} = \prod_{j=1}^D (d_j)_{m_1 \delta_j}.$$

Theorem 4.1. *The following bilateral generating function holds true:*

$$\begin{aligned} &\sum_{n=0}^{\infty} \varphi_n^m(x_1, \dots, x_m; \lambda_1, \dots, \lambda_m) \phi_n(u_1; u_2, \dots, u_r) t^n \\ &= (1 - te^{-\sigma_m})^{-\left(\sum_{j=1}^m x_j\right)-1} \prod_{j=1}^m (1 - te^{\lambda_j - \sigma_m})^{x_j} \\ &\quad \times \sum_{r_1, \dots, r_m, m_1, \dots, m_r=0}^{\infty} \frac{((b))_{(m_1+r_1+\dots+r_m)\phi}}{((d))_{(m_1+r_1+\dots+r_m)\delta}} (r_1 + \dots + r_m + 1)_{m_1} \prod_{j=1}^m (-x_j)_{r_j} \\ &\quad \times \Omega(f(m_1 + r_1 + \dots + r_m, m_2, \dots, m_r), m_2, \dots, m_r) \frac{\left(\frac{-u_1 t}{1 - te^{-\sigma_m}} \prod_{j=1}^m \frac{1 - te^{\lambda_j - \sigma_m}}{e^{\lambda_j} - te^{\lambda_j - \sigma_m}}\right)^{m_1}}{m_1!} \\ &\quad \times \frac{\left(\frac{u_1 t}{1 - te^{-\sigma_m}} \prod_{j=1}^m \frac{1 - e^{\lambda_1}}{1 - te^{\lambda_1 - \sigma_m}}\right)^{r_1}}{r_1!} \cdots \frac{\left(\frac{u_1 t}{1 - te^{-\sigma_m}} \prod_{j=1}^m \frac{1 - e^{\lambda_m}}{1 - te^{\lambda_m - \sigma_m}}\right)^{r_m}}{r_m!} \frac{u_2^{m_2}}{m_2!} \cdots \frac{u_r^{m_r}}{m_r!}. \end{aligned}$$

Proof. For convenience, let S denote the first member of the assertion in Theorem 4.1 and use definition of ϕ_n . Then we have

$$\begin{aligned} S &= \sum_{n=0}^{\infty} \varphi_n^m(x_1, \dots, x_m; \lambda_1, \dots, \lambda_m) \sum_{m_1=0}^n \sum_{m_2, \dots, m_r=0}^{\infty} \frac{(-n)_{m_1} ((b))_{m_1 \phi}}{((d))_{m_1 \delta}} \\ &\quad \times \Omega(f(m_1, \dots, m_r), m_2, \dots, m_r) \frac{u_1^{m_1}}{m_1!} \cdots \frac{u_r^{m_r}}{m_r!} t^n \end{aligned}$$

$$\begin{aligned}
 &= \sum_{m_1, \dots, m_r=0}^{\infty} \left(\sum_{n=0}^{\infty} \binom{n+m_1}{n} \varphi_{n+m_1}^m(x_1, \dots, x_m; \lambda_1, \dots, \lambda_m) t^n \right) \frac{((b))_{m_1\phi}}{((d))_{m_1\delta}} \\
 &\quad \times \Omega(f(m_1, \dots, m_r), m_2, \dots, m_r) (-u_1 t)^{m_1} \frac{u_2^{m_2}}{m_2!} \dots \frac{u_r^{m_r}}{m_r!}.
 \end{aligned}$$

By using the relationship (2.1), we get

$$\begin{aligned}
 S &= (1 - te^{-\sigma_m})^{-\left(\sum_{j=1}^m x_j\right)-1} \prod_{j=1}^m (1 - te^{\lambda_j - \sigma_m})^{x_j} \\
 &\times \sum_{m_1, \dots, m_r=0}^{\infty} \varphi_{m_1}^m \left(x_1, \dots, x_m; \ln \left(\frac{e^{\lambda_1} - te^{\lambda_1 - \sigma_m}}{1 - te^{\lambda_1 - \sigma_m}} \right), \dots, \ln \left(\frac{e^{\lambda_m} - te^{\lambda_m - \sigma_m}}{1 - te^{\lambda_m - \sigma_m}} \right) \right) \\
 &\times \frac{((b))_{m_1\phi}}{((d))_{m_1\delta}} \Omega(f(m_1, \dots, m_r), m_2, \dots, m_r) \left(\frac{-u_1 t}{1 - te^{-\sigma_m}} \right)^{m_1} \frac{u_2^{m_2}}{m_2!} \dots \frac{u_r^{m_r}}{m_r!}.
 \end{aligned}$$

Now, if we use the definition (1.2) and after some calculation, we arrive at the desired result. \square

By appropriately choosing the multiple sequence $\Omega(m_1, \dots, m_r)$ in Theorem 4.1, we obtain several interesting results including, for example, the following bilateral generating functions.

I. By letting

$$\begin{aligned}
 &\Omega(f(m_1, \dots, m_r); m_2, \dots, m_r) \\
 &= \frac{\prod_{j=1}^A (a_j)_{m_1\theta_j^{(1)} + \dots + m_r\theta_j^{(r)}}}{\prod_{j=1}^E (c_j)_{m_1\psi_j^{(1)} + \dots + m_r\psi_j^{(r)}}} \frac{\prod_{j=1}^{B^{(2)}} (b_j^{(2)})_{m_2\phi_j^{(2)}}}{\prod_{j=1}^{D^{(2)}} (d_j^{(2)})_{m_2\delta_j^{(2)}}} \dots \frac{\prod_{j=1}^{B^{(r)}} (b_j^{(r)})_{m_r\phi_j^{(r)}}}{\prod_{j=1}^{D^{(r)}} (d_j^{(r)})_{m_r\delta_j^{(r)}}}
 \end{aligned}$$

in Theorem 4.1, we obtain the following result:

in Theorem 4.1 we obtain the following result.

Corollary 4.2. *The following bilateral generating function holds true:*

$$\begin{aligned} & \sum_{n=0}^{\infty} \varphi_n^m(x_1, \dots, x_m; \lambda_1, \dots, \lambda_m) F_A^{(r)}[a, -n, b_2, \dots, b_r; c_1, \dots, c_r; u_1, u_2, \dots, u_r] t^n \\ = & (1 - te^{-\sigma_m})^{-\left(\sum_{j=1}^m x_j\right)-1} \prod_{j=1}^m (1 - te^{\lambda_j - \sigma_m})^{x_j} F_{1:0;0;\dots;0;1;\dots;1}^{1:1;1;\dots;1;1;\dots;1} \\ & \left(\begin{array}{l} [(a) : 1, \dots, 1] : \quad [r_1 + \dots + r_m + 1 : 1]; \quad [-x_1 : 1]; \quad \dots; \quad [-x_m : 1]; \\ [(c_1) : \psi^{(1)}, \dots, \psi^{(m+r)}] : \quad -; \quad -; \quad \dots; \quad -; \\ [b_2 : 1]; \quad \dots; \quad [b_r : 1]; \\ [c_2 : 1]; \quad \dots; \quad [c_r : 1]; \end{array} \left(\frac{-u_1 t}{1 - te^{-\sigma_m}} \prod_{j=1}^m \frac{1 - te^{\lambda_j - \sigma_m}}{e^{\lambda_j} - te^{\lambda_j - \sigma_m}} \right), \right. \\ & \left. \left(\frac{u_1 t}{1 - te^{-\sigma_m}} \prod_{j=1}^m \frac{1 - e^{\lambda_1}}{1 - te^{\lambda_1 - \sigma_m}} \right), \dots, \left(\frac{u_1 t}{1 - te^{-\sigma_m}} \prod_{j=1}^m \frac{1 - e^{\lambda_m}}{1 - te^{\lambda_m - \sigma_m}} \right), u_2, \dots, u_r \right), \end{aligned}$$

where the coefficients $\psi^{(\eta)}$ are given by

$$\psi^{(\eta)} = \begin{cases} 1, & 1 \leq \eta \leq m + 1 \\ 0, & m + 1 < \eta \leq m + r \end{cases}$$

and $F_A^{(r)}[\cdot]$ is the Lauricella function.

III. If we put

$$\Omega(f(m_1, \dots, m_r); m_2, \dots, m_r) = \frac{(a_1^{(1)})_{m_2} \dots (a_1^{(r-1)})_{m_r} (a_2^{(1)})_{m_2} \dots (a_2^{(r-1)})_{m_r}}{(c)_{m_1 + \dots + m_r}}$$

and $B = 1, b_1 = b, \phi_1 = 1$ and $\delta = 0$ in Theorem 4.1, we obtain the following result:

Corollary 4.4. *The following bilateral generating function holds true:*

$$\begin{aligned} & \sum_{n=0}^{\infty} \varphi_n^m(x_1, \dots, x_m; \lambda_1, \dots, \lambda_m) F_D^{(r)}[a, -n, b_2, \dots, b_r; c; u_1, u_2, \dots, u_r] t^n \\ &= (1 - te^{-\sigma_m})^{-\left(\sum_{j=1}^m x_j\right)-1} \prod_{j=1}^m (1 - te^{\lambda_j - \sigma_m})^{x_j} \\ & F_D^{(m+r)} \left[a, r_1 + \dots + r_m + 1, -x_1, \dots, -x_m, b_2, \dots, b_r; c; \left(\frac{-u_1 t}{1 - te^{-\sigma_m}} \prod_{j=1}^m \frac{1 - te^{\lambda_j - \sigma_m}}{e^{\lambda_j} - te^{\lambda_j - \sigma_m}} \right), \right. \\ & \left. \left(\frac{u_1 t}{1 - te^{-\sigma_m}} \prod_{j=1}^m \frac{1 - e^{\lambda_1}}{1 - te^{\lambda_1 - \sigma_m}} \right), \dots, \left(\frac{u_1 t}{1 - te^{-\sigma_m}} \prod_{j=1}^m \frac{1 - e^{\lambda_m}}{1 - te^{\lambda_m - \sigma_m}} \right), u_2, \dots, u_r \right], \end{aligned}$$

where $F_D^{(r)}[\cdot]$ is the Lauricella function.

REFERENCES

1. A. ALTIN, E. ERKUŞ and F. TAŞDELEN: *The q -Lagrange polynomials in several variables*. Taiwanese J. Math. **10** (2006), 1131–1137.
2. R. AKTAŞ, R. SAHİN and A. ALTIN: *On a multivariable extension of the Humbert polynomials*. Appl. Math. Comput. **218** (2011), 662–666.
3. R. AKTAŞ, F. TAŞDELEN and N. YAVUZ: *Bilateral and bilinear generating functions for the generalized Zernike or disc polynomials*. Ars Combin. **108** (2013), 389–400.
4. J. CHOI: *A generalization of Gottlieb polynomials in several variables*. Appl. Math. Lett. **25** (2012), 43–46.
5. E. ERKUS-DUMAN: *Some new properties of univariate and multivariate Gottlieb polynomials*. Miskolc Math. Notes (2019) (accepted for publication).
6. M. J. GOTTLIEB: *Concerning some polynomials orthogonal on a finite or enumerable set of points*. Amer. J. Math. **60** (1938), 453–458.
7. S.-J. LIU, S.-D. LIN, H. M. SRIVASTAVA and M.-M. WONG: *Bilateral generating functions for the Erkus-Srivastava polynomials and the generalized Lauricella functions*. Appl. Math. Comput. **218** (2012), 7685–7693.
8. N. OZMEN and E. ERKUS-DUMAN: *Some families of generating functions for the generalized Cesáro polynomials*. J. Comput. Anal. Appl. **25** (2018), 670–683.
9. H. M. SRIVASTAVA and M. C. DAoust: *Certain generalized Neumann expansions associated with the Kampé de Fériet function*. Nederl. Akad. Westensch. Indag. Math. **31** (1969), 449–457.
10. H. M. SRIVASTAVA and P. W. KARLSSON: *Multiple Gaussian hypergeometric series*. Ellis Horwood series: Mathematics and its Applications. Ellis Horwood Ltd., Chichester; Halsted Press [John Wiley & Sons, Inc.], New York, 1984.
11. H. M. SRIVASTAVA and H. L. MANOCHA: *A Treatise on Generating Functions*. Halsted Press (Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, 1984.

12. H. M. SRIVASTAVA, F. TAŞDELEN, F. and B SEKEROGLU: *Some families of generating functions for the q -Konhauser polynomials*. Taiwanese J. Math. **12** (2008), 841–850.

Esra Erkuş-Duman
Gazi University
Faculty of Science
Department of Mathematics
Teknikokullar TR-06500, Ankara, Turkey
eerkusduman@gmail.com; eduman@gazi.edu.tr

Nejla Özmen
Düzce University
Faculty of Art and Science
Department of Mathematics
Konuralp TR-81620, Duzce, Turkey
nejlaozmen06@gmail.com; nejlaozmen@duzce.edu.tr